Hose Clamps - Bolt Grip Collar

Slangklamma

Bredbandsklamma

Slangklamma W2 12mm AlSI 430

Endless wormdrive hose clamps W2 mm 12 AlSI 430

Slangklamma W4 12mm AISI 304

Endless wormdrive hose clamps W4 mm 12 AlSI 304

Slangklamma W2 9mm AlSI 430

Endless wormdrive hose clamps W2 mm 9 AlSI 430

Slangklamma W4 9mm AISI 304

Endless wormdrive hose clamps W4 mm 9 AISI 304

Bredbandskldmma W1

Bolt grip collar W1
Bredbandsklamma W4

Bolt grip collar w4

MERLETT



SLANGKAMMOR

HOSE CLAMPS

ARTIKEL 928094 W2 slangklamma. Rostfritt stalband ARTIKEL 928093 W2 slangklamma. Rostfritt stalband
AISI 430, 12 mm banbredd. Rostfritt stalhélje AISI 430. AISI 430, 9 mm banbredd. Rostfritt stalholje AISI 430.
Galvaniserad skruv. Galvaniserad skruv.

ARTIKEL 928096 W4 slangkldmma. Rostfritt stalband ARTIKEL 928095 W4 slangkldmma. Rostfritt stalband
AlISI 304, 12mm bandbredd. Rostfritt stal holje AISI 304. AlSI 304, 9mm bandbredd. Rostfritt stal hélje AISI 304.

Rostfri skruv AISI 304. Rostfri skruv AISI 304.

COD 928094 W2 Endless wormdrive hose clamps. COD 928093 W2 Endless wormdrive hose clamps.
Stainless steel band AISI 430 of 12 mm. Stainless steel Stainless steel band AISI 430 of 9 mm. Stainless steel
housing AISI 430. Stainless steel screw galvanized housing AISI 430. Stainless steel screw galvanized
bichromate. bichromate.

COD 928095 W4
Endless wormdrive
hose clamps. Stainless
steel band AISI 304

of 9 mm. Stainless
steel housing AISI 304.
Stainless steel screw
AlSI 304.

COD 928096 W4
Endlesswormdrive hose
clamps. Stainless steel
band AISI 304 of 12 mm.
Stainless steel housing
AISI 304. Stainless steel
screw AlSI 304.

W2-W4 mm 12 W2-W4 mm 9
23 i3 22 % 33 23 3 22 = 33
s= s= gE e 4 <@ ss s= zE S g <@
=S =S o= 0 o = > =S W= 0 o = x
ZZ Z£Z e o~ ® o ZZ ZZ EE o ® o
== == S =< e o == == Sz =< ol
W R s Lot - W W = Lo -
20 D<O:LD QI.:J l—g |<—Etu) <DEO ﬂgo DI.:.I P—g &ﬁ
s Z s Z s 2 Zo zZa = Z s Z s 2 zZo zZa
s s -] s« < s s L g s« <
Sy Su £ O gL Su Su £ O 3e
z z z Z - s zZz zZ Zz Z =
Za Zg = =) Zc Zg = =)
a = a = S & a = a = o) &
"3 "3 = - "3 "3 = -
o v (=) (&) o (=)
& &
> >
mm inch. Nm Nm N° mm inch. Nm Nm N°
16-25 5/8-1 >5 >6,5 50 8-12 0,31-0,47 >3 >5 50
20-32 25/32-1/4 >5 >6,5 50 10-16 3/8-5/8 >3 >5 50
25-34 0,90-1,57 >5 >6,5 50 12-20 0,47-3/4 >3 >5 50
32-50 11/4-2 >5 >6,5 50 16-25 5/8-1 >3 >5 50
40-60 19/16-2,36 >5 >6,5 50 20-32 25/32-11/4 >3 >5 50
50-70 2-23/4 >5 >6,5 10 25-40 0,98-1,57 >3 >5,5 50
60-80 2,36-3,15 >5 >6,5 10 32-50 11/4-2 >3 >55 50
70-90 2 3/4-3,54 >5 >6,5 10 40-60 19/16-2,36 >3 >5,5 50
80-90 3,15-3,94 >5 >6,5 10 50-70 2-23/4 >3 >5,5 50
90-110 3,54-4,33 >5 >6,5 10 60-80 2,36-3,15 >3 >5,5 50
100-120 3,94-4,72 >5 >6,5 10 70-90 2 3/4-3,54 >3 >5,5 50
110-130 4,33-5,12 >5 >6,5 10 80-100 3,15-3,94 >3 >5,5 10
120-140 4,72-5,51 >5 >6,5 10 90-110 3,54-4,33 >3 >5,5 10
130-150 5,12-5,91 >5 >6,5 10 100-120 3,94-4,72 >3 >55 10
140-160 5,91-6,3 >5 >6,5 10 110-130 4,33-5,12 >3 >5,5 10
150-170 5,91-6,69 >5 >6,5 10 120-140 4,72-5,51 >3 >55 10
160-180 6,3-7,09 >5 >6,5 10 130-150 5,12-5,91 >3 >55 10
170-190 6,69-7,48 >5 >6,5 10 140-160 5,51-6,3 >3 >55 10
180-200 7,09-7,87 >5 >6,5 10 150-170 5,92-6,69 >3 >55 10
190-210 7,48-8,27 >5 >6,5 10 170-180 6,3-7,09 >3 >55 10
200-220 7,87-8,66 >5 >6,5 10 170-190 6,69-7,48 >3 >55 10
210-230 8,27-9,06 >5 >6,5 10 180-200 7,09-7,87 >3 =55 10
190-210 7,48-8,27 >3 >55 10
200-220 7,87-8,66 >3 >5,5 10

210-230 8,27-9,06 >3 >5,5 10

All technical specifications apply to a temperature of 23° C + 2° C (150 291) - Alla tekniska data géller vid en temperatur pa 23 ° C £ 2 ° C (IS0 291)
The tolerance on all specifications 5% (Tolerance Percentage is applicable on ALL DATA across our range) + Alla tekniska specifikationer +59%(Galler for alla specifikationer i véra Datablad)
To verify if the item of your interest is “on stock” or “on demand” pls refer to our web site - For att verifiera om slangen “pé lager” eller “pa forfragan” hanvisas till var hemsida



BREDBANDSKLAMMA

BOLT GRIP COLLAR

ARTIKEL 928089 W1 Bredbandsklamma i  ARTIKEL 928090 W4 Bredbandskldmma i rostfritt
galvaniserat stal. stal AISI 304. Rostfri skruv.
COD 928089 W1 Bolt grip collar galvanised steel. COD 928090 W4 Bolt grip collar made of stainless

steel AISI 304. Stainless steel screw.

COD 928089 W1 COD 928090 W4

2% 8 |38 |58 ¢ 5%|38 2% SE |53 5% 22 5% 38
== o Tz D% | FE | g | <@ == 22 | Tz | % | gE | g | g@
SsS & o< J iE | 8% = SsS © = oV O | dkE | ©& = x
zZZ g o0 0 == ~© o zZ Z @ oo n = )
== == z o~ rofited == 2o == z (=} i
== <Z( 5& Sk S < a o, == <th 5& Sz S < o .
88 = | %9 =L Lu | EE 88 23| 22 =L cw | 2
22 S 2 o8 |23 SE 32 S 2 oy |23 | SE
&< < S3 | &9 | 2¢& &< < S3 &9 | 2&
=~ @ g =g | < =~ @ g | sg | <
o )
2g 22 2° 22 =2 8*®
g = | S 28 : |3
Q. o) =4 Q. o) [«4
wn < = > w0 < = >
— —
o (=) o a
= =
> >
mm inch. mm mm mm Nm Nm Ne° mm inch. mm mm mm Nm Nm N°
2325 0,91-0,98 18 0,6 M5x40 =5 >7,5 20 2325 0.91-0.98 18 0,6 M5x40 =5 >75 8
2628 1,02-1,10 18 0,6 M5x40 =5 >75 20 2628 1.02-1.10 18 06 M5x40 =5 =75 8
29-31  1,14-1,22 20 08 M6x50 >7,5 =15 20 29-31  1.14-122 20 0,6 M6x50 =7,5 =15 8
32-35  1,26-1,38 20 08 M6x50 >7,5 =15 20 3235  1.26-1.38 20 06 M6x50 =75 =15 8
36-39  1,42-1,54 20 08 M6x50 =75 =15 20 36-39  1.42-154 20 0,6 M6x50 =7,5 =15 8
40-43  1,57-1,69 20 08 M6x50 =75 =15 20 40-43  1.571.69 20 06 M6x50 =75 =15 8
44-47  1,73-1,85 22 12  M6x55 =75 =15 20 44-47  1.73-1.85 22 0,8 M6x55 =7,5 =15 8
48-51  1,89-2,00 22 1,2 M6x55 =75 =15 20 48-51 1.89-2.00 22 0,8 M6x55 =75 =15 8
52-55 2,002,17 22 1,2 M6x55 =75 =15 20 52-55 2.00-2.17 22 0,8 M6x55 =75 =15 8
56-59 2,20-2,32 22 1,2 M6x55 =75 =15 20 56-59 2.20-2.32 22 0,8 M6x55 =75 =15 8
60-63 2,36-2,48 22 1,2  M6x55 =75 =15 20 60-63 2.36-2.48 22 0,8 M6x55 =7,5 =15 8
64-67  2,52-2,64 22 1,5 M8x70 =20 =30 20 64-67 2.52-2.64 22 0,8 M8x70 =20 =30 8
6873  2,682,87 24 1,5 M8x70 =20 =30 20 68-73 2.68-2.87 24 0,8 M8x70 =20 =30 8
7479 2,91-3,11 24 1,5 M8x70 =20 =30 10 7479  2.91-3.11 24 0,8 M8x70 =20 =30 4
80-85 3,15-3,35 24 1,5 M8x70 =20 =30 10 80-85 3.15-3.35 24 0,8 M8x70 =20 =30 4
86-91 3,39-3,58 24 1,5 M8x70 =20 =30 10 86-91 3.39-358 24 0,8 M8x70 =20 =30 4
92-97 3,62-3,82 24 1,5 M8x70 =20 =30 10 92-97 3.62-3.82 24 0,8 M8x70 =20 =30 4
98-103 3,86-4,06 24 1,5 M8x70 =20 =30 10 98-103 3.86-4.06 24 0,8 M8x70 =20 =30 4
104-112 4,09-4,41 24 1,5 M8x80 =20 =30 10 104-112 4.09-4.41 24 0,8 M8x80 =20 =30 4
113-121 4,45-4,76 24 1,5 M8x80 =20 =30 10 113-121 4.45-4.76 24 0,8 M8x80 =20 =30 4
122-130 4,81-5,12 24 1,5 M8x80 =20 =30 10 122-130 4.81-5.12 24 0,8 M8x80 =20 =30 4
131-139 5,16-5,47 26 1,7  M10x90 =30 =55 10 131139 5.16-5.47 26 1,0 M10x90 =30 =55 4
140-148 5,51-5,83 26 1,7  M10x90 >30 =55 10 140-148 5.51-5.83 26 1,0 M10x90 =30 =55 4
149-161 5,87-6,34 26 1,7 M10x110 =30 =55 10 149-161 5.87-6.34 26 1,0 M10x110 =30 =55 4
162-174 6,38-6,85 26 1,7 M10x110 =30 =55 10 162-174 6.38-6.85 26 1,0 M10x110 >30 =55 4
175187 6,89-7,36 26 1,7 M10x110 =30 =55 10 175187 6.89-7.36 26 1,0 M10x110 =30 =55 4
188-200 7,40-7,87 26 1,7 M10x110 =30 =55 10 188200 7.40-7.87 26 1,0 M10x110 =30 =55 4
201213 7,91-839 26 1,7 M10x110 =30 =55 10 201213 7.91-839 26 1,0 M10x110 =30 =55 4
214-226 8,43-8,90 26 1,7 M10x110 =30 =55 10 214-226 8.43-8.90 26 1,0 M10x110 =30 =55 4
227239 8,94-9,41 26 1,7 M10x110 =30 =55 10 227239 8.94-9.41 26 1,0 M10x110 =30 =55 4
240-252 9,45-992 26 1,7 M10x110 =30 =55 10 240-252 9.45-9.92 26 1,0 M10x110 =30 =55 4

All technical specifications apply to a temperature of 23° C + 2° C (150 291) - Alla tekniska data géller vid en temperatur pa 23 ° C £ 2 ° C (IS0 291)
The tolerance on all specifications 5% (Tolerance Percentage is applicable on ALL DATA across our range) + Alla tekniska specifikationer +59%(Galler for alla specifikationer i véra Datablad)
To verify if the item of your interest is “on stock” or “on demand” pls refer to our web site - For att verifiera om slangen “pé lager” eller “pa forfragan” hanvisas till var hemsida



MERLETT



